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— 9910 TUOIN NN KAV TID
The red cow can become impure with the impurities of food, etc.

Overview

YA "M maintains that X317 *110°K cannot be P21 NXML Xnwn,! but nevertheless the
TMITR 779 can be 191X NRIAIW Rnwn after it was slaughtered, because there was a time
where it could have been redeemed, and would be permitted to be eaten, therefore
even though it was not actually redeemed, we say 27 "1790 m79% 72wn 9, and it is
as if it was redeemed and is 7921 NRMIV RAVA.

n1voIN asks:
= 3N 119979 NI IND IXNYWNT YD1 YWIDN NYY NY NN DININ 9INRPTIT NN

It is astounding; for since the X states that the 779 is P21 NRMY Xvn, ‘since it

had a time when it was fit’ to be eaten, we can infer that now it is not redeemable -
= NN AN PTAOUTP N7 (owr a,x0 91 MWV PIyNIY 2499 1Y 1IN NN INNPN)

But why is it not redeemable now, since @''S maintains in n1y1aw ndon, that the

TR 199 is considered nvam PR wp -
- RO NOYNY X¥NN2 19990 D1ayh Y993 150 XY 17520 D72 SWTDT 1Y 5PN IYNY 399

And @''1 maintains, in that very same X923, that 7''2 sw7p are not included in
the requirement of® 72w aTRYA —

nID0IN answers:
= SN ANNY 29591 TWIDN NYY NY NN DININ NPT RNT WY NI

And it is preferable to explain that this which was stated; ‘since it had a nyw

212:7’, is discussing after the sprinkling of the blood; that is when the 75 became xnv -
= D729 ANV NN D79 Ha NAINY N2 )PRT

Where it is not conceivable that the 775 should be redeemable after its blood

! The term 19238 NXML Xnun means that if a X7 727 (like a corpse or a dead yw) touched food, it will become Xnu.
2 “Now’, means when a X 7127 touched it, after the v nw.
3If it is redeemable now, why say ‘since it had a w1377 nyw”’, rather you should say since it has a 221277 nyw now, for
it can be redeemed.
4 man p7a wp (items which were donated for the upkeep of the p"n°2) are only 07 nw17p (and are redeemable), as
opposed to (N1127p) 112t *wTp which are 7137 nNW17P (and cannot be redeemed as long as they are fit for the ram).
5 Regarding the redemption of 21 *7¥2 M337p the 770 (in 2>-X°,73 >"MPna] XpM) uses the words WM 7mym, teaching
us that the animal must be able to stand, in order to be redeemed. ¥"9 maintains that this requirement is limited to
nam wp but not for 7"2 *w7p. Therefore the MR 775 can be redeemed now after the 7V W, so it has a W57 NYw
now, not just in the past, as it appears from our X73.
® After the 77977 nwnw (outside the 777V), its blood was sprinkled toward the direction of the w7pna n»a. After the Ax17,
the flesh of the 1775 came in contact with a X»v 127,
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had been sprinkled, therefore now it has no 71377 nyw, since it is currently not redeemable -
- 7ANYY DY TWIDN NYY N9 DD NI PYIIN NNV NNV 597 I9PON)

And nevertheless, it is 9218 NRPIW RAWR now, since it had a "w>7 nyw before
the N7 (after the 70 nw) when it was redeemable —

n1voIN asks:
= 859349 A9 MTNY 19990 Y5 NN 9NN ON)

And if you will say; but anything which is awaiting to be sprinkled, it is as if it
was already sprinkled, so it never had a "7 nyw —

N190IN answers:
- 105595 13559995 537 NN INY NYaP DNPT MY U

And one can say; that before the blood was received [in a cup] it is not
considered as if it was sprinkled, as I explained previously —

In summation; at present (after the blood was received in the cup, when it is M7 72W), the 779
cannot be redeemed; however before the blood was received in a cup (at which time it was still not
7 171%D), that is when it had the w157 nyw to be 17791, which would make it fit to be eaten, and since
"7 "1792 N7 T 93, we consider it as if the 775 was 71793, regarding that it is 792X DX KL,

nvoIN asks:
= 9UI9N NYY 1Y NNNYT D NNRY 0N 93 ININIY 129 NYPN

The n''2w= asked, why do we need to come on to the reason that it had a nyw

W27, in order to explain why it is P21 nRMY PPN -
- NY9IN 1Y NHWUMY HINWAn WIPH NINT 1YY 919N

Let us derive that the 779 is 77218 nRMV IRMPVA because 'wTpPn N2’ makes it fit (to

be 121X DMV 9apn), for it renders the 719 as food -
= 13929 DINY MY TWANI (0w 3,9 97 PIINT 72 9993 )9PWITTS

7 We say 7 "1793 M197 7MW 93, so it is as if it was redeemed already (before the nx17), and if it would be redeemed
it would be 1221 nXkmv Knvn, so now too, even though it was not actually redeemed, nevertheless on account of 9
191 77, it is considered as if it was redeemed and is P9I NRMIL XHALA.
8 As soon as the 7119 was w3, it was N7 T, so if it is "7 ATMI, there never was a W37 NYY to redeem it, since as
M>ooIN just stated that it is X720 X to redeem it after the 7177, It would seem that this 775 never had a 221377 nyw to be
TR 22pn. While it is alive it certainly cannot be 7xmw 2pn, and after it was vnw1 it was 7117 72, and once there is
a (virtual) 17>177, the 779 can no longer be redeemed, and it is X372 770K, so how can it be P721X NXAIW RHLA.
° The "2 MixT amends this to read, X% 9192 723p (instead of > 772p)
10 See the previous (3,1) 3 71"7 '0n; the second answer [TIE page 3].
' ynwon wnipn naon is a concept that regarding certain items that even though they ‘normally’ cannot be Xm0 22pn,
nevertheless the ‘dearness’ of something holy, makes it fit (Aw2) to be nxmwv 72pn.
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As we expound the word "wam','? in the second =5 of "1 ndon, to include
wood and frankincense!? to be axmw 93pn —

MooIN anticipates a possible answer to his question:
- WTPN NN N2 IOV RY NI 1N PTA SYTPT 110D PYNY 2290 D997 NN )

And if you will say; that according to w''9, since the ;799 is 17''2 sw7p, the concept

of w751 N2 does not apply to it; Mmoo explains -
- YV 9993 BN NYITP IWTPY KN WTPN NN 2010 KY NaM SWTpa 19aNT

For even by narm swp, the concept of 7P nasn is not effective, unless they were

sanctified with a 737 NP in a N Y95 (a ministering vessel that was used in the p"»2) -
= (N,19 97 ©NaY) ]’517511 ba 79929 (3,27 97 mnan) ©22DINI HHININD YW1 NIIINNTI

As is evident in the beginning of 275237 nmann P79, and in P91 B2 P15, so by
the 7799, which is not 7137 nw17p (it is merely n°273 P72 NWYTR), there is no WP N0 —

Moo rejects this solution:
= 1PYNY 2299 1929 WP NN N9 W TN HY XN

For perforce we must say that w7 n2°n applies to the 77X 1195, even according

to @''9 (who maintains that the 779 is n°27 P72 NWITP) -
- 16)’551N NIV NNV INNN 199Y 1595 Nynv "4y 7299 D20 MININN WIHaY

For in the beginning of 29501 nmana oo the X ma asks, according to w'' why

do m and 77X 5799, become PPY2IR NRMIY Kb, since -
- INIWAN YAPH D3N 2IUM 5T 19U 919UY 1IN Y57 NI Nabya NIy

It is mere dust; for whatever is awaiting burning, it is as if it was burnt already,

and the X773 answered YN WoR WIPT N2, so we see that we do apply wIpa 021 to 779 -
= NN 12N PTASVTPT 1199 590 WP NA PNRT 2) DY GNT RNDYL 199N)

And this is the reason why we say by 775 that 10 won wnpn n2°n, for even though

12 The p1o9 in v,1 (1X) X7 reads, 2 2287 iy 22 2am > wR2 2580 X2 8w 922 v WK wam. One wam is
redundant; it teaches us that even the wood of the 715791 and the 71127 on a fman are P22IR NXAIW XY, even though they
are not edible. That is the meaning of JnIwan WP Nam; it makes them as if they were 192,
13 The same should be by the 719; even though it cannot be eaten (we are ignoring the possibility of 7779), nevertheless
it is no worse that 111291 0°¥y, which cannot be eaten and nevertheless are 17218 Nk &1, the same should apply to
the 1775 on account of WP Nam.
14 See footnote # 4. The 1721271 @°¥V acquire a 7137 N7 when they are placed in a N7 *3; the 0°%¥ on the inm» (shovel)
and the 1237 in the 1°>°12. However, the 719 is not put into a N7 *2> and it is only 27 nw1Tp, so perhaps there is no
WP nan, therefore we must come on to W37 YW 72 01, This seems to answer the question.
15 9n11 is the meat of a 1277 that was not eaten by its deadline; it needs to be burnt.
16 Granted that °»7 *1793 N179% T 93, so it is not considered X172 MOX, however there is another issue.
17 The 2m1 and the 719 need to be burnt; once they are burnt, they certainly cannot be 1998 nXmw Xnwn, for they are
dust and ashes, which cannot be 77218 nXnW 22pn, so why are they RXnu?
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there is no “»> 7P by the 1775, since it is 7''3 "w7p -
- 18839319 119599 HNVNYT 113 WIPH NN %3 TV 0PN Yan

Nevertheless, w7p nasn applies to the 7779, since the 7770 calls it 'nxwn’ -
- 1YY KYY NYIDDY ANTD N2 YWIY GINN NTAY PYI 1539 Y9

And all its actions are similar to the service which is done by 71 nw17p, for there

is 837 (like a 327p) and it is 79188 if it was done 1w® X% (like a 127p); therefore there
is WTPn n2°n by the 719, so it should be n&m1w 22pn because of WP n2°n regardless whether it had
a “Won Ny or not!

N190IN answers:
- 591D Y9N PRY NPNWY RIN NI WTHN NN PRT PN 19939 Y1

And the >''1 answered that w7p? n2sn is not effective for everything, rather it is

only effective to make non-food, to be like food
= 112D DIYYI RIOYI DAIVYN 1Y N9 95 NS

For instance, °m: and 192 which are considered like earth (since they will be

burnt, and 21 91w 72w 92), and similarly 7729291 298¥, which are basically not edible,

the wmpn n2°n1 makes them as if they were edible -
= 9990y 2299 ANMLV YaPN PRY NIN DN NINY 937 YaN

However something which is food (like the 719), however it is not 821 Hapn

according to w'' -
- AN NOIRD MUYY UIPN NN PP XY DINRY 199NN 199 NAN PRY Y9N 200/Wn)

Because [he requires] that it should be a food that you can feed it to others, which
a 719 generally is not; w2 n2°n will not be effective to make something
forbidden, like something which is permitted.

In summation; WP nan is effective to make something which is (physically) not edible (like a°xy
mN377) or (virtually) not edible like 7191 7M1 (which are 19w% ) to be considered edible;
however wTpi nan is not effective to make something which is legally forbidden to be eaten, as if
it were permitted to be eaten.

18 The 770 writes (in v,0> [NPI] "27M2) regarding the (ashes of the) TR 779; 773 072 NPWA? XY’ °12 NTY? 70M
N7 nXwn. It is compared to a nXvn 127p, which is 7137 nYITPR.
19 There are two reasons why a 77X 7115 should not be 721X Xm0 Xnvn; one because it is 79WH 7MW, and is not
considered food; for this w1 n2°1 can help to make it a 2o&n. The second issue is that it cannot be eaten because it
is forbidden to eat it, for this w771 n2°1 is no solution (in fact if it is wTIP there is more reason not to eat it), therefore
we need to come on to W37 NYW 772 N7, where it could have been redeemed and be eaten. [1M1 even though it cannot
be eaten now; however it was able to be eaten before, so it had a “wion nyw].
20 The 1"27 M3 amends this to read, 913° ANRW 221X %waT 0w (instead of 212 DR PRW 218 01Wwn). Regarding nxmw
792238 the 770 writes (in 72,8 [1nw] X1p*1) 298 WK 291877 207, this is interpreted by w"1 to mean that it must be a food
which can be eaten by someone (even a 1), excluding food which is 71%172 710X, which no one can eat.
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MooIN anticipates a difficulty:
= DY NDT NN NN NPT 29D NHPVIY YW DIINT 21PD109N Y WA ¥yHWNT XN

And this which it seems in the beginning of 3"»10577 %> P19, that we would have
assumed that one who eats meat (of 2°w7?) which became RX»w, before the

sprinkling of the blood, he will not receive nip»; we would have assumed this -
= 2N1I90 DIVN 1YY 123N PN 011VY 99 PNV 599 VAT YT Yy

On account of the mw97, which states that anything which is not permitted to

those who are =17%, one is not liable on it on account of N2, We would have

assumed this -
- 24739299 22058Y 195 9WANIN 13229107 DIV IND IN

If not for the fact that we include this (72>97 °19% Xnvaw w2 H5X) to be prohibited
from "wam' just like there is X210 by 77239291 293Y; we see that WP Nan can make MoK

into 7N, not as '01N just answered —

Moo responds:

= 4NN NNMIVM 4719 K¥aT DIV NIN 1D V9 ’¥a XYY 11’5 0NN
There (by the Xnv 7w2), since the only reason why we wanted to exempt it (from
mpon) is because we thought we should derive it from 5137 NX%1 (where indeed one
is not liable if it was before 7ip>77), but not that logically it makes sense that there is no 2vn for

W2 pRMW before 1P 01; therefore -
= 25113925 ©INYT 92N D) YWaNIM Mavh nd vy

21'x,7% o°nar. The rule is that if a Xnv 07X ate 2°w7pi w32 before the a7 was P13, he is 75 from Mpon. We derive this
from the 2°p108 (in 3-v° 7 [1¥] X" where it states; .73 28> 237 22 220) A7 WD 2o87 XD Ry 2232 v WK pam v
TRYR RIIT WOIT AN21) Y INRR®) MY WK 2nbwa namm T2 Ya8n YR wo3d) 5. We compare that just as the p109 of
W32 HoR v 92, is only after P71 (one may not eat 2°w7p before 0777 Np>77), similarly the liability of Y%¥ 1nxnLY, is
only after o777 NP7, but not before. The X713 assumed initially that this qualification applies also to a 7171 who eats
owIp W3, which is Xnv, that one is only liable if he ate it after 077 np>1, but not before. This is referred to as, 2
R0 DWR YV 721 PR QMY N1 IRY (if a MY cannot eat it, there is no liability for nRMW).
22 See previous footnote # 21..
23 X rejects this X" and says that since we derive (see footnote # 12) from "Wwam' that there is P72 N¥» W0 even by
71271 o°xy (which are not edible), so certainly Xnaviw w1 w32 should be included in the prohibition of not eating w2
X1y even before np 1.
24 The xmu w2 (before 771) cannot be eaten (even if it was M7v), and according to the rule (see footnote # 21) 93
TRMID DWR YHY 1201 PR 202 N1 RY, there should be no 2vn of 7MW, however here we are saying that this 7wa
which cannot be eaten (and therefore one should not be 2717 for its IR110) nevertheless the w2, makes it as if it is
2N to be eaten and therefore one is 21 on its XMW, We see that "wam' can include to make 012 MoK, not like
'0n just stated that "1wamY' can only make 92183 921X X7,
2 Regarding 7770 there is a general rule (according to w'"9) that there is no 1223 NXMW by X317 *NoR. This law applies
to all 817 MK, including the 779, The 7109 of "Wwam' which makes 3183 991X 1°K, cannot make MoK into 707, The
719 is obviously nX372 770K; it cannot be considered as something which is X172 7N, However, the rule of 1PXw 95
0°7Iv? N1 is written only by 7137 XMW but not by w32 nkmw. Logically we would assume that if the qw2 is &nv it
should be 70K even before 777, since there is no 105 to exclude it. However, we want to derive w2 n¥mv from
5
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We can include from 'sw2am' through a 1'p from 721291 293P that by xnu w2 there is
a 2111 even before 77 —

n»doIN asks:
= 0110 NNMIV DA DIVTP DT 9N N INNIN 9NN ON)

And if you will say; why did not v"7 say that all animals which were sanctified

as M127p, should be susceptible to 12218 nR»w, even when they are still alive -
= 26913 VINY VINYY 119990 D5 N1 1\?11“’)5 MINNT 192

For since there a /m13% to be vmw them, so we should say, ‘whoever is awaiting
mwanw, it is as if he was wnwy’ —

N190IN answers:
- DAY XY 1P1PYUD 19V 93 270192 YaPOW 1Y 9T PYITIT 1NN KXY DAY 19ONT 91319 U

And one can say, that even when it was already wnw: we do not say that the blood

1s 97 1912, until it is received in a cup, so certainly when it was not v yet, we
cannot say that °n7 P13 129K P12 AW 90 —

mooIn has another question:®
- PUNAY 3295 PYIIN NNDIV DINM NNVIY DNYY 195295 AWD PAYHYND Y 1151)

However, the >''1 has a difficulty regarding the n>nwni7 9spw; that according to

w''7 it should be 1228 nX2 RawR, even when it is still alive; this question is -
= 997 MNTI NIINTY TIPY 11297 NNINA 19929N 309Y4T (x,10 xov) TINT INNIY

According to the one who maintains that it is permitted to derive benefit from
the remaining limbs of the n?nwni 7°yw, and the reason it should be nxmwv XHLA
o> PR is because since it is awaiting to be pushed off the cliff, it is as if it

was pushed off the cliff, and since it is 7372 7N then, so a gentile can eat it, why is it not
Domn PN AR 3P —

17 NRMY, even though logically by 7w2 nxmw, there should be a 2111 even before the 72>71. Therefore, to remove this
attempted 7%, we can utilize the 1"p from "Wwam' (see footnote # 23) to make the 0K into 7n°7, so the w2 XMWY
will be restored to its logical conclusion.
26 This vITW? 7Wwn 25 will make it as if it was LW, and then we can say 27 P11 P1r? 7w 93, at which point it is
permitted to be eaten, so if we combine these two (P17121 LIIWY) 121 721 23 it should be o»nn R 22pn.
%7 See footnote # 10. The preventing fact is not that it is not unw3, for we can say VW 73w 93, however the fact that
it is not P12 7MW yet (so it cannot be eaten), prevents it from being 12218 NRMY XAVA.
28 It seems from the previous answer that the reason why a live 1277 is not 12218 NX»1W XALA is not because it is alive,
but rather because we cannot say yet "7 P1712 P12 T 2, therefore '01n asks the following question.
2 The nonwnn 1w, the goat which is sent away, is one of the two goats, upon which the 9172 1713 casts lots on 93 o,
one is brought as a sin offering and the other (the n2nwnn °yw) is thrown off a cliff.
30 The n"a7 maan amends this to read, "7 PIZD NINTY 1971 AXIT2 @993 17WT (instead of MIATY 121 7RI 19929K 10T
7).
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MB0IN answers:
= 32951995 NNY THONRN YIIND NIN M7 WYYIT 90N XY MWYY 129N Y57 3199 v

And we can say that we do not assume in all cases that something which is
awaiting an action, it is if as if the action was done; we say it only regarding food

which is prohibited that it should be as if it is permitted -
= BOYINNY I79ORND D19 NHNY JIIN 192 19999

And we can read into it that it is ‘a food which you can feed to others’ -
- 355189 AWNY N HYa 1133 HIIN PRYY 2110 XY YaN

However the concept of 121 7w 92, is not effective for something which is
intrinsically not food, like a live animal, that it should be considered as food —

N1voIN comments:
= 35N99¥9 AWNIY 99 9 "2 59NN 9y 23N MINT 2N By GN

Even though that the concept of 7wn 92 would have been effective regarding

food, for instance 2011 and 717X 7192 to be considered as earth (non-food) -
— WTPN NN INY TWINT INY ON

Were it not for the rule that w7»7 nan makes it fit to be nxmw Sapn —

In summation; 7M1 %3 can make O°X into 1n°7, but it cannot make non-food into food?® (even
though it can make food into non-food).

m»ooIN proves that 72w 95 cannot make a non-food into a food:
= NVINY XY PN AV DN 370D Jar MINT > 1)

This is similar to the cases of a 739 32 and fish, which are permitted to be eaten

without vInw -
$1N,NY 97PN NYPND NNNA P92 38595551 Y09 229N 99T 1)3‘1& NNV NN 2N 199N

31 The 1"27 mman amends this to read, "Wy2T NWYY 7207 927 31918 8T 1217 (instead of "wya7 98 8D MWy 191 937 ).
32 This is for instance in the case we are discussing here; the meat of the 2w7p (which is food), cannot be eaten until
after 0777 npr, we therefore can say 121 P112 72w 93, and we consider as if the food can be eaten now, regarding
PO IR0,
3 See footnote # 20.
3 The concept of Twi1 73, can make food which legally may not be eaten to be considered as food which can legally
be eaten, but it cannot make a non-food into a food. See “Thinking it over’ # 2.
35 mooin is distinguishing between making a non- food into a food (which 121 771 93 cannot accomplish) as opposed
to making a food into a non-food) which 7217 25 can accomplish.
3 This is the exact opposite of wTpa nan which can make non-food into food, but cannot make Mo*X into 77!
37 A mypo 12 is a live fetus which is found in the inside of a mother after she was 7159712 vnwi. The 779 12 may be eaten
without v nw, for it is °n°1 with the 7w W of its mother.
38 3" maintains since they can be eaten as they are - alive, they are P221X NX2W0 X0 even while they are alive. See
“Thinking it over’ # 1.
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But nevertheless their being alive keeps them 2370 from 1°921% nxmw,*” according
to the 3129, who argue with 2''5739 in wpnn 7272 P95,

Summary
There are limitations to what w7277 nan can accomplish, as well as to what 721977 92

can accomplish.

Thinking it over
1. What would 2"7 (who considers live fish 7991 &m0 22p% wom)* maintain
regarding the n7nwni YW, can it be 17218 MRPIW Hapn, while still alive?

2. Initially it seemed that the reason a live animal cannot be 2> nXmw 22pn (even
though there is a 7277 92), is because the 72v77 95 cannot make from a non-food into
a food.*! However from the conclusion of N0 it seems that live animals cannot
intrinsically be 780 %2pn, even*? if they can be eaten now. Can we reconcile these
two approaches?*’

3 We see that (according to the 1327) anything which is alive, even if it can be eaten as is, nevertheless since it is alive
it cannot be 1R 72pn, the same applies to the m2nwni yw. See ‘Thinking it over” # 2.
40 See footnote # 38.
41 See footnote # 34.
42 See footnote # 39.
43 See (1"7v in) mwn nom.
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